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Calculation of turbulence intensity 

In general terms turbulence for a quasi steady state flow can be described as a mean velocity plus a 

fluctuating component.    u u u   

The turbulent kinetic energy k below and to characterise the level of turbulence the figure 

turbulence intensity (I) is used. U is the velocity at given time. 
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Practical considerations for calculating the turbulent intensity 

2 2 2u v w    are the root mean square of the velocity fluctuations in each direction. This is the 

same as the square of the standard deviation of the velocity fluctuations, also called the variance. 

Further the mean time averaged velocity U  is the mean of the total velocity and not the individual 

components in the vector. 

   n
2 2 2

t 1

1
U u(t) v(t) v(t)

n 

     

This gives the following formula to calculate for calculation of turbulence intensity: 
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The above calculation can easily be done in excel for a chosen time period, e.g. a period where the 

flow is quasi steady state. For example 5 seconds of the simulation time where the conditions do not 

change. Note that the values for either variance or standard deviation should be calculated on the 

basis of a sample (and not the entire population), so the formula used is the one where there is 

divided with (n‐1) instead of n. 

Including turbulence on the sub‐grid 

The above example is for a fluid, where all the turbulence are resolved and a part of the total 

turbulent energy. Assuming that a LES model is used, ‐ only some of the turbulent energy will be on 

the sub grid scale, ksgs , turbulent energy on the sub grid. 
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Using the same method as previously the intensity can be written as: 

   2 2 21 21 2
sgs3 3sgs3 3
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Relation between the turbulence on grid and on sub grid 

Turbulence resolution:   
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Expressed in terms for evaluation in Excel: 
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General about turbulence levels  

(copied from http://www.cfd‐online.com/Wiki/Turbulence_intensity 

1. High‐turbulence case: High‐speed flow inside complex geometries like heat‐exchangers and 

flow inside rotating machinery (turbines and compressors). Typically the turbulence intensity 

is between 5% and 20%  

2. Medium‐turbulence case: Flow in not‐so‐complex devices like large pipes, ventilation flows 

etc. or low speed flows (low Reynolds number). Typically the turbulence intensity is between 

1% and 5%  

3. Low‐turbulence case: Flow originating from a fluid that stands still, like external flow across 

cars, submarines and aircrafts. Very high‐quality wind‐tunnels can also reach really low 

turbulence levels. Typically the turbulence intensity is very low, well below 1%. 

Practical example using excels to calculate the turbulent resolution.  

This example gives a turbulent intensity as shown in field BP1011 of 28% for the position at 

x=0.75 m (the example on the next side is from another calculation, hence the value at 

x=0.75 m is different). Note that velocity has to be calculated first for every time step and 

then this list of velocities is averaged.  
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The turbulence levels have been calculated for the backward facing step as described[1, 2]: 

 

The backward facing step has been modelled in FDS using a step height of 4 cm and a height in the 

inlet tunnel of 7 cm. The turbulence levels have been measured at 8 point along the centre line of 

the wind tunnel. The step is places at x=0 m. And the measuring points are placed at ‐0.75m, ‐0.25 

m, 0.25 m, 0.50 m, 0.75 m, 1.00 m, 1.25 m, 1.50 m.  

 

 

X position  ‐0.75  ‐0.25  0.25  0.5  0.75  1  1.25  1.5 

Turbulence intensity  0.18%  0.18%  2.0%  22%  24%  19%  41%  15% 

 

It can be seen that before the step (at x=‐0.75 m and x=‐25 m) the turbulence level are very low, 

which is also as expected as no turbulence is introduced at the boundary. Also immediately after the 

step the intensity is low, as the eddies created by the step, do not disturb the measurement position 

at x=0.25 m. For the remaining length of the channel the turbulence levels are high, nearly all over 

20%, except the last point at x=1.5 m, where the flows seems to stabilize again. The can also be seen 

at the figure below showing the velocity. 
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